ghipsmall

Chipsmall Limited consists of a professional team with an average of over 10 year of expertise in the distribution
of electronic components. Based in Hongkong, we have already established firm and mutual-benefit business
relationships with customers from,Europe,America and south Asia,supplying obsolete and hard-to-find components
to meet their specific needs.

With the principle of “Quality Parts,Customers Priority,Honest Operation,and Considerate Service”,our business
mainly focus on the distribution of electronic components. Line cards we deal with include
Microchip,ALPS,ROHM, Xilinx,Pulse,ON,Everlight and Freescale. Main products comprise
IC,Modules,Potentiometer,IC Socket,Relay,Connector.Our parts cover such applications as commercial,industrial,
and automotives areas.

We are looking forward to setting up business relationship with you and hope to provide you with the best service
and solution. Let us make a better world for our industry!

Contact us

Tel: +86-755-8981 8866 Fax: +86-755-8427 6832
Email & Skype: info@chipsmall.com Web: www.chipsmall.com
Address: A1208, Overseas Decoration Building, #122 Zhenhua RD., Futian, Shenzhen, China

iy [0



ASIA
AMERICAS EURORE

: Units 2111-2116, Level 21
5810 Van Allen Way Astec House, Watgrfront Business Park Towerl, Metroplaza
Carlsbad, CA 92008 itz Al BUclizy 223, Hing Fong Road
Telephone: 760-930-4600 Ul ks, D) 1L UK Kwai Fong, New Territories
g Telephone: +44(0)1384-842211 Ho‘n e
Facsimile: +44(0)1384-843355 g fong

Telephone: 852-2437-9662
Facsimile: 852-2402-4426

Installation Notes

LPX80 * Cover Enclosure Kit

LPX80 will fit all the LPX8X power supplies

Facsimile: 760-930-0698

(2X) M3 INSERTS

©0000000000000000000000
\c CEEAIEEAREoaEEcaiecato o
©000000000000000000000 F—H
@ 7 @
o 000000000000000000000
000000000000 0000000000
INPUT
WIRING — = 1.181 [30.0] -~ — 0.984 [25.0]
ACCESS
Q0 30
°° OBQPOG =:=:°9=OGS=:94)‘7000“0008000@000
@ 5 AE 90"0’0? eﬁ'() DDOGOOOQQOQQQQQOO
1.134 [28.8] RO L L L L)
© 900D AD0S000
80 Dm OQOOOODO@QSOSD 2036 [ 56.8 ]
OUTPUT TERMINALS OIS0 00 000080060 - -
L L L LI OGO 3.858 [98.0]
BGOSR CE R
00ee0eee00000008B00B80O D00
0000000008003 00030R82300
00R0@L0000000000DCRSeBaE
O207:S:ﬁ):@Z0:&:0;ﬁ;OZOZOZOZOZOZ@Z@gQZQZ@ZQzQZQZ@Z@ \—OUTPUT
800000000000000000000000000000 WIRING ACCESS
5.906 [150.0]
0086800000000 e8880000
o B000@©060660000000000
@ 000000000300000)00000050 U& *
1.748 [44.4
[~ INPUT TERMINALS /@ e 0 w44l
C0000000000000000060000 (2X)0.591 [15.0]
INSULATOR
b - L L f
(2X) M3 INSERTS (2X)4.331 [110.0] (2X)0.787 [20.0]
(2X) 0.364 [9.3] —= (2X)4.803 [122.0] ——=
(2X) 0.787 [20.0] —=|
(2X) @4mm MTG HOLES [T (X353 1900] —= = | (2X) 0738 [183]
, —~(4X) M3 STANDOFF
| \% FOR MTG POWER SUPPLY
@®°A IN4
(2X) 2.55 [65]
(2X)3.150 [80.0] (2X)2.756 [70.0]
.25[6.4 o
025[6.4] @A Ay 1
& @ (2X) 0.657[16.7] (2X) 0.551 [ 14.0
20.35 [28.8] @0.14 [@3.6] /K T @) T (1401
(2X) 0.354 [9.0] M3 INSERTS/
(4X) MARKED "A" SEE KEYWAY DETAILS
1 Base 1. Alldimensions are in inches (mm)
1 Cover 2. Overall dimensions:
4 M3 x6mm pan head screws with spring washer 5.9(150)x 3.9 (98.0)x 1.75 (44.4)
4 M3 x 6mm countersunk sdrews 3. Base plate has three sets of customer mountings:
1 M4 nut a. Bottom mounting (4x) M3 inserts. Max. screw penetration 0.0787 (2mm)
1 M4 star washer b. Bottom mounting (2x) 4mm clear holes plus 2 keyways (see keyway detail)
1 M4 spring washer c. Side mountings (4x) M3 inserts. Max. screw penetration 0.236 (6mm)
1 Plastic insulator sheet 4. Ensure insulator is correctly fitted in base under PCB to maintain safety creepage and
clearances.
5. Ensure base is firmly connected to supply earth via the earth stud marked ® .
6. When using this enclosure, ensure that relevant safety standards (e.g., EN60950) are
complied with, in respect to creepage and clearance distances, and distances through
insulation.
Technical Support: (888) 41-ASTEC or (407) 241-2752 ASTEC

Americas: (760) 930-4600 Europe (UK) 44 (1384) 842-211 Asia (HK) 852-2437-9662 rev8.25.04



	Contact us

